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1. AR x +logyp(1+2%) = xlog; o 5+logq 6 3, 4. AR s, =,M_«,WLI*I(H;I)C> 2, sl s, FRdt AP

Al x Torash SO 27 :
* e n W& F AR HI Gl T 2, @

@ 2, -3 T 3Tt a1 87
(b) e 2 (@ P+Q

L (b) 2P +30Q
d 5 (c) 20

i (d) Q

2. feenard W (101110), +(110), F AvFa
AR 9T B, S 5. i

(@-nx?+(r-px+(p-g)=0
(@) (111), 3 (100),

& & T E7
(b) (100), 3T (111),

(@ (r-p)/lg-r), 1/2
(c) (101), 3R (101), |
(b) (p—aq)flg=r1), 1

(d) (100), ¥ (100), (c) (g-r)/(p-q) 1

(@ (r-p/(p-q) 1/2
3. IR AW x URRAT R x + 5 FieW ¥ TR
B ¥ y dRral 3R 11- y &iem ¥ AB 3R

BA TH1 faemm #1 x 3R y % " wEw: F®@w 6. I E 99 wg=9 § 3R A=BuC ¥,

&7 = E-(E~(E-(E-(E-A)) f= &9
Tore Tg= % g9 87

{’"} 831|\3
(&) Bl

(b) 3 3R 4 Al

(c) 338 € B AC

(d) 8 3R 8 (d) BnC
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1, If 4. If S, = nP+Ln;i)9, where S, denotes

x +10g;o(1+2%) = xlog;o S+1og;o 6 the sum of the first n terms of an AP,
then the common difference is

then x is equal to

(@ P+Q
(@) "% 3 ' (b) 2P+30Q
(b) 2 only © 20
o < @ Q

(d) 3
5. The roots of the equation

2. The remainder and the quotient of the
binary division (101110), +(110), are
respectively

(@-nNx?+(r-px+(p-q) =0

(@ (111), and (100),

(b) (100), and (111), (@) (r—-p)/l@-7) 1/2

{c) (101), and (101), () (p-q)/lg-71) 1

(d) (100), and (100), , () @-r)/(p-q) 1

(d (r-p/(p—q) 1/2

3. The matrix A has x rows and x+95
columns. The matrix B has y rows and

11- y columns. Both AB and BA exist. 6. If E is the universal set and A= BUC,
What are the values of x and y then the set E - (E - (E - (E - (E - A4)))) is
respectively? same as the set

(a) 8 and 3 (a) B'uC

(b) 3 and 4 () BuC

(c) 3 and 8 (c) B'NnC

(d) 8 and 8 (d BnC
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7. 9 A={x:x, 2W PN B}, B={x:x, 5F 10. =5 PERMUTATION’ & 1sR] 4 fray fifim
TN 2} AR C={x: x, 10 % P B} 7, d AT SHIC ST Hohdl &7
An(BnC) fras st 27
(@ 19958400

(@ A

(b) 19954800
(b) B

(c) 19952400
{€) . &

(d) 39916800
(d) {x:x, 100 %I IO &}

4i-6 10i 1 ¢
8. AR o 3R B TR 14+ x+x2 =0 % 7 %, ll'ﬁ’l:{ 14i r:.+4i]a$“k:"z}‘%’?’gT
1 Bl[la B [ =18, @ kA foras auer 27
i 12 R
Fal (@) 21?73I 2-531'
i [ 1} e [5L =L ) i
i1 B | =12 . TE, 5
() | W, 248 |
T R e iy
@ ] _ 2] @1 -2 |
- - [2-3 7
& s o

9. I |a| Toret quiie & e = =t ewfar &, @ MR o
= § @ F9-8 wd ¥7 (@) B g
1. |ab|=|al|b| : -
2. |a+b|=|al|+|b]|
3. |a-b|2]|a|-|b]|

12. g |x-3[%+|x-3|-2=0 % @

e fow T e w1 yE W wE W g ATEdfere HeA! ol ATl T 7
(@ =had 1 AR 2 (@ 2
(b) Had 2 3R 3 (b) 3
(c) ad 1 3R 3 fc) 4
(d) 1,233 [d) 6
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7. If A= {x: xis a multiple of 2}, B={x: x is 10. How many different permutations can be

a multiple of 5} and C={x:x is a made out of the letters of the word
multiple of 10}, then AnN(BNC) is ‘PERMUTATION?
equal to
(a) 19958400
(@ A
(b) B (b) 19954800
@ ¢ (c) 19952400
(d) {x:x is a multiple of 100} (d) 39916800

8. If o and P are the roots of the equation

1+ x+ x? =0, then the matrix product 11. If A= 4{—=6 10 ol R S
1 B B 14 6+4i 0’
o
[a oc:|[ 1 B} i =4+/-1, then kA is equal to
i 2+ 3i S5
is equal to
' @ | . g 2—3:']

e -1 -1
@ | 2} (b) [_1 2}

. [2=30 B
i | 23 s e [ 7 2+3t ]
( ] (@) [ : }

-1 2

2T e ]
5  2+3i |

9. If |a| denotes the absolute value of an
integer, then which of the following are
correct? + 31 5 ]

7 2+3i ]

1. |ab|=|al|b]
2. |a+b|<|al+|b|

3. |a—bl=|lal- &l 12. The sum of all real roots of the equation

2 M
Select the correct answer using the code |x-3|“+]x-3|-2=0is
given below.
(a) 2
(@) 1 and 2 only
(b) 3
(b) 2 and 3 only
fc) 1 and 3 only (c) 4
(@ 1, 2 and 3 (d 6
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13. Ig T man B o6 geftepton 16. 0 % Gt Al % fow i
x2 -—4x-logz P=0 | 2

6 . -6
cos 5 Sin 5
%gmﬁm%lﬁ%quwm Sugl  gB
bl 2 2
(@ —
27 1 qH FT 87
S _ (@) 1
(b) =3
(b) cos®
1
g 81 (c) sin®
d 1 (d) cos?26

14. Ifd A T o1 =g B, @ adj AT - (adj A)T

=1 W e e R7 17, FEAF & 919 (x +a)'%0 + (x - @)100 F wER

T el ol e fora &7
@) A
b (@ 202
(b) 2|A|I & IcawH AR B
() Y= =gg, Tomeh R () =@ 2 L
ST AR R @ s
(d) T =g, Rrd wif (37R) =& 2
T AFE (d) 50
155, P 18. (1+x)%° & WOR # x % =i ¥ 1ot &
62 x 67 x 68 x 616 x ... Id Y& T AT T 27
Eﬂm?ﬂ'l%? (a) 026
(@) 6 (b) 249
(b) 36
50
© 216 el " 2
(d) 512 (@) —25%
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13. It is given that the roots of the equation
x2 -4x—-logz P=0 are real. For this,

the minimum value of P is

1
(a) ﬁ
1
(b) T4
1
© &1
(dy 1

14. If A is a square matrix, then the value of
adj AT = (adj A)T is equal to

(@ A

(b) 2|A|I, where I is the identity
matrix

(c) null matrix whose order is same as
that of A

(d) unit matrix whose order is same as
that of A

15. The value of the product
6% ><6% x6% ><611_6 X ... up to infinite terms
is
(@) 6
(b) 36
(c) 216

(d) 512

ADU-S-LET/81A

16. The value of the determinant

Q

o)

7]
N

[N
N Nl

@
=

for all values of 6, is

(@) 1
(b) cos®
(c) sin®
(d) cos 26
17. The number of terms in the expansion of
(3 + )00 + (x - a}loo after simplification
is
(a) 202
(b) 101
(c) 51

(d 50

18. In the expansion of (1+ x)so, the sum o
the coefficients of odd powers of x is

{a) 226
(b) 249
(C] 250

(d} 251

[ P.T.O




_a'l 0 0
B —~la »L o

B i1

=
o

(d —| 0

o

20. T FRF H 4500 A7 6 Todt =60 3| 98

nth A9 rd Bee 3§ Re 9 fmar 2, 99
?ﬂﬁqa'sﬁ@mn ¥ s TR 7| Al

al =a2 ﬂ(13 =...=a10 =150

3R Qios 415 Qs .- APﬁ%,ﬁ”ﬂW'ﬂ'ﬁf
AR -2 7, @ Geft N A i § @ v
THY @AY

(@) 24 fiFme
(b) 34 fire
(c) 125 fiFe
(d) 135 fiFe
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21. HH DI GAHS UM naﬁ?-m%,ﬁiﬁﬁq

(ﬁjn =177

1-i
(@ 1
(b) 4
(c) 8

{d) 16

22. I §0 =9 N x N T U T4 R 36 THR

qitid <t foh
(@, b R(c,d)=a+d=b+c

@ft (a, b), (c, d)e Nx N ¥ frg 2, @ =7
gy 8?

(@) Fad Gafid
(b) <Haw TERE 3R GshE
(c) TAM Ty
(d) e TG

23. A y=x+x2+x3 +... 3Fd & TF, &

x < 18, a1 7 § 3 FF-31 9 27

(@ x=—2

1+ y

gl
o) 3= T2

@ x=21Y

@ x=-Y
Yy



19. If a, b, ¢ are non-zero real numbers, 21. The smallest positive integer n for which

then the inverse of the matrix (1+i)" e
; =1, 18
a om0 bl
A=0 b 0
a) 1
0" Q) e (@)
b) 4
is equal to (bl
(c) 8
a0 0
@ | @ B B (d) 16
o ¢
e 22. If we define a relation R on the set Nx N
i iy, B B as (@, )R(c, d) = a+d=b+c for all
() ——| 0 bl o0 (@, b), (c, d) € Nx N, then the relation is
i ) 0 el
3 (a) symmetric only
1 (10 0 (b) symmetric and transitive only
g —|0 1 O
abc : .
L 0 0 1] (c) equivalence relation
1 o O 0T (d) reflexive only
(d) o 0O b
abc
(00 ¢ By i

- 23. Ify=x+x“ + x>~ +... up to infinite terms,

where x <1, then which one of the

following is correct?
20. A person is to count 4500 notes. Let

a, denote the number of notes he y
counts in the ~nth minute. If i 1+y
a =Qy =0z =...=Qp = 150, and gy,

a1, g, ... are in AP with the common

difference -2, then the time taken by (b) x= Y-
him to count all the notes is 1=y

(@) 24 minutes

) g 1+y
(b) 34 minutes y
{c) 125 minutes 1
-y
@ x=-—2
(d) 135 minutes Yy
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24. A o 3R B wfiFO 3x2 +2x+1=0 % qd
g, @ 98 Wi, Fes qa o +p7! iR

B+a~! §, -1 &?
(@)

(b) 3x2 -8x-16=0

3x2 +8x+16=0

(c) 3x? +8x-16=0

x2 +8x+16=0

25. 1'+ 1 + :

+... 4 &I G
log; e log 5 e?

log s et

&1 HH =T 87

(a) log.9 (b) O

fc) 1 (d) log, 3

26. 16 A % o T =/ 9 1 way TR s
? VRl TF Tt 29el % SHl WS S18-3T8
Fral omg ST §1 =R fafim @ e
WEF AT TRd ¢ 3R QA @E AR @ T
ST 9TRd 81 3 fhan TR A 98 g 87

(@)
(b)

24 x 8! x 8|
(83
(c) 210x8!x 8!

(d) 16!

27. k & T 9w ¥ fou wfiww fen
kx+y+z=1, x+ky+z==k 3R

x+y+kz=k? & H g 61 27
(@) O (b) 1

fe) .. =1 (d) -2

ADU-S-LET/81A

10

28. 4fe

_(2n-13% +b
4

1.3492.324.3,83% 1. +7.3"

®, @ a 3R b FHY: =1 77
(@ n,?2
(b) n, 3
© n+1,2
(d)

n+1, 3

T P
29. APQR #, <R=7 1 AR tan[EJ iR

tan(g),atﬂwfxx2+bx+c=o%w@%,
= § | e-a v 27
(@ a=b+c
() b=c+a
() c=a+b
(d) b=c
4

30. uﬁ’z——l=2%, A |z| 1 Aferehan o frgs

A
U 87

(@) 1++/3
(b) 1+4/5
(c) 1-4/5
(d J5-1




24. If o and B are the roots of the equation
3x2 +2x+1=0, then the equation
whose roots are ¢ +B ! and B+a”! is

(a) 3x2% +8x+16=0
(b) 3x%-8x-16=0
(c) 3x2+8x-16=0

(d) x2%+8x+16=0

25. The value of

1 1 1
+ 3 + s +... up to
logs e logs; e logs e
infinite terms
is
(@) loge 9 (b) O
() 1 (d) log.3

26. A tea party is arranged for 16 people
along two sides of a long table with
eight chairs on each side. Four
particular men wish to sit on one
particular side and two particular men
on the other side. The number of ways
they can be seated is

(a) 24 x8!x8!
(b) (81)°
{c) 210x8!x8!
(d) 16!
27. The system of equations kx+y+z=1

x+ky+z=k and x+y+kz=k2 has no

solution if k equals
(@) O (b) 1

€ -1 (d) -2

ADU-S-LET/81A 11

28. If

_en-13%+b
4

1.842,3%2 +3.:3% 4. .30

then a and b are respectively

(@) n,?2
(b) n, 3
(¢ n+1,2

(d n+1, 3

29. In APOR, ZR=2_1f tan (f) and tan (9)
2 2 2
are the roots of the equation
ax? + bx +c= 0, then which one of the
following is correct?
fa) a=b+c
() b=c+a

(c) c=a+b

(d b=c

30. If‘z—i
zZ

=2, then the maximum value of

|z| is equal to

(@ 1++/3
(b) 1++/5
(c) 1-4/5
(d) J5-1

[P.T.O



31. Tl il % 25 m W @ w fog 4 © 34. 0T o I A WA A 3R B H 39 g iR

fer e %1 3999 Fv 150 ¢ AR A | fRm ™ % 0 A-B=x 3R
a9 wfafers &1 saE v 45° B g tanA:tanB=p:q%lsinx?ﬂmqm
e | SR a6ed hl SHa18 foha &7 T 27
(p+q) sina psina
@ 25m iy e ~
(b) 2543 m : (©) ps;na (@ (p —q) sina
r-q p+q
(c) 50 m
(d) 50V3 m 35. sin! (%)+tan_1 (%]mm%a%w%?
(@) © ®) 7
32. tan9® - tan 27° — tan 63° + tan 81° I HH '
Torareh SR B7 T n
(c) 3 (d) )
(a) -1
) 0 36. TF @ & Y R U ¥ w TR F Y F
IATH DI HHI;: 30° R 45° §| AR TR H
(c) 1 SR by ® 3R @S A SE Ay R, @ B
T Y FH-9 o 87
d 4 2hphr _ 5
= 3+43 e
5 hr-hp _hp
3wl 2
83. /3 cosec 20° — sec 20° & HH Thush wU=R e
%? 3. M=4+J§
. ™
(@) 4 = fog 1T e 1 I R A I gAY
) 2 (@) Faed 1 3R 3
(b) Had 2 3N 3
1
& (c) FadA 13 2
(d) -4 (d) 1,2 3R 3
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31. The angle of elevation of a stationary 34. Angle o is divided into two parts A

cloud from a point 25 m above a lake is and B such that A-B=x and
15° and the angle of depression of its tan:A: tan B=p:q. - The ' value of
image in the lake is 45°. The height of sin x is equal to
the cloud above the lake level is : ;
p+q)sina P sino
R
(@) 25 m
p sino —q) sina
(c) (d) (p=g) sinat
(b)) 25J3 m rP-q rPtq
(c) S0 m 35. The value of
e tan-1 1
is equal to
32. The value of (@ O (b) %
tan9° — tan 27° — tan 63° + tan 81° 4 T
(c) 3 (d) >

is equal to

36. The angles of elevation of the top of a
tower from the top and foot of a pole are

L respectively 30° and 45° If hy is the
height of the tower and hp is the height
(b) © of the pole, then which of the following
are correct?
c) 1
- . 2hehy o
" B+J3 F
@ 4 ++/3
2. hy =hp _ Bp:
JBx1 2
33. The value of /3 cosec20° -sec20° is 5« 2M0p PR -
equal to ' hp
@ 4 Select the correct answer using the code
given below.
(b) 2 (@ 1 and 3 only
b) 2 and 3 onl
© 1 (b) y
(c) 1 and 2 only
(d) =4 (d 1,2 and 3

ADU-S-LET/81A 13 "B T: 0.




37. & BYS ABC # a-2b+c=0 3R 40. sin~! x 1 &I WF fRE Siaue § Brar 27

Aot [E 27
cot[z)cot(z)wmw i (_g_, g)
(a) 5
(b) 3 (b) [-% g}
@ 3 |
(@ 1 © [0’ g]
(d) [0, 7]

38. J1+sinA =- (sing +cos§-)'ﬂ'ﬁﬁ % fe

(@) ¥am 3l oa50
2 2 41. /3¢ (@ b), (0 0), (~a - b) 3R (ab, b?)?

T 3n
Bl TR gl ey (@) T Wi TG % ¥ frg

(c) %E<A<% (b) T TR ¥ o g
B (c) @aﬁ%sﬁﬁﬁ@
@ o<a<Z

(d)

39. s ABC # =f§
42. HAleg (REA) ¥ 9906 x +2y-22=9 W

sin? A +sin? B+sin? C L

2

cos? A+cos? B+cos? C Ff¥yera it TITE e SR 87
2, T 75 e fre wr w1 27 @ 27
(a) A
(b) 3 e
(b) HHEE
(c) TR (c) 47
(d) 3fts wivf (d) 5@3

ADU-S-LET/81A
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37. In a triangle ABC, a-2b+c=0. 40. The principal value of sin™! x lies in the

The value of cot (%) cot (g) is interval
nom
@ 3 @ (-3 3)
(b) 3 T T
2 ® |53
(c) 5
T
(@d 1 (c) [0, 5]
38. J1+sinA =- (sin% +cos§) is true if (d) [0, 7]

3n 57
i) —= < A<— onl
(a) > 5 y

41. The points (@ b), (0, 0), (-a —b) and
ab, b?) are
(b) g<A<%only ( )

(a) the vertices of a parallelogram

(c) on <A<x L
2 2 (b) the vertices of a rectangle
3n :
(d O0<A< N (c) the vertices of a square

{d) collinear

39. In triangle ABC, if

A i 2 a2
C
Sint T Rin e =2 42. The length of the normal from origin to

2 2 2
cos® A+cos” Btcos® C the plane x +2y—2z =9 is equal to

then the triangle is
(a) 2 units

(a) right-angled
(b) 3 units

(b) equilateral

(c) isosceles (c) 4 units

(d) obtuse-angled (d) 5 units

ADU-S-LET/81A 15 [ P.T.O.




43. 3 o, B 3K y J 7 & <t wRw OP (O - 46. AR a st b A ww whRw ¥ A ae
forg ?) Fivs @l A o R % @y @+ b) x (@ x b) Tres T 27
S &, A e 3 Y R-d &

(@) (a-Db)
1. cos?a +cos?p =sin?y )
2. sin2a+sin26=cosz'\( Pl 1)
3. sin?o +sin?B+sin?y =2 (c) (2a-b)
I fw TC %2 1 W W wE 3w P (d) (2a+b)
(@) FaA 1 3R 2
(b) Had 2 IR 3 47. 5l w1 W fg Af+2)-30) ¥ f
() Fae 1 3R 3 B(3{ - j+ 5k) 7% Tarenfiq e & o us
. il SE F =1 + 3] +2K 1 YA R s 3| 74
(@ 1, R o T s e Bme
44. @3 x+y-3=0 3R x-y+3=0% &9 (@) 5
F R o B AU @R x—3y+24/3 =0
IR V3x-y+1=0F i F =H B ¥ (b) 77
= b
(@ o=8 (b) o>P @ 10w
() o<pB (@) o=2p

P P . AL 48. Tl ufew d & fow
45. WH AT o =7 +2j- K, B =2~ j+3k 3}

¥ =20+ j+6k o7 aRm ¥ 7R & sir g < |dxi|?+|d x j|°+|d x k|2
WY s WA F A 5.7 =108, A § w foheh TR 27
gftToT = R 7 N
(@) |af?
(@) 3=
(b) 23 FfFe (b) 2[3)?
NE]

(C) —2_-2!1:312 (c) 3|a|2
- —

: \/g (d) 4|3[2

ADU-S-LET/81A 16



43. If o, B and y are the angles which the 46. If @ and b are two unit vectors, then the

— ~ i ~ AL e
vector OP (O being the origin) makes vector (@+b)x(@x b) is parallel to
with positive direction of the coordinate
axes, then which of the following are (a) (a-b)
correct?
1. cos®a +cos?p = sin? y (b) (a+b)
2. sinZo +sin? B =cos?y (c) (2a-b)

3. sin2_oc +sin? B+sin27 =2 m
(d) (2a+b)
Select the correct answer using the code

given below.

(a) 1 and 2 only 47. A force F=1+ 37 +2k acts on a particle to
(b)) 2 and 3 only displace it from the point A(f +2j- 3K)
to the point B(3i - j+5k). The work
done by the force will be

(¢) 1 and 3 only
(d) 1,2 and 3

(@) S units

44. The angle between the lines x +y—3=10
and x — y+ 3 = 0is o and the acute angle (b) 7 units
between the lines x —+/3y+2+3 = 0 and
J3x-y+1=0 is B. Which one of the

following is correct?
(a) o=p (b) o>P (d) 10 units
(c) o<P (d) o=2p

{c) 9 units

48. For any vector a

~

45. Let o =1+2j-k, B=2(-j+3k and

i=2i + j+ 6k be three vectors. If o and [@xi2+ (@ x j2+d x k2
B are both perpendicular to the vector
- - <
5§ and 6-Y =10, then what is the is equal to
_’
magnitude of 8§ ? ;
(@) |d|?

(a) /3 units
(b) 243 units b) 2|32

T il
c) — unit =y
() 2 {C) 3[(1]2
(d) —= unit

V3 (d) 4|d|?
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49. - F =R 3R el g Th =AfRE 98 9l 52. forgelt (-3, 4,-8) 3 (5, -6, 4) F e

® 1% 21 game-warl Y 30 TRl 1 dmee el W@ Hw XY-ad A gfoese-fg SR-a
¥ 10 m ¥ 3R SHI TareR-Tardl & sty 6 ?7
T 8m 2 IWk TN UREE 9Y H AAR
fope &7 (@) (Z,_Q o)
g 8
(@) 18n 1 HeX
b) 15n 9t He @ [-Z, -8 o)
i s g
(¢) 12n a7 HR
78
(d) 8n T HiR (c) [—5, o 0)
50. fog (1, 3) i W1 2x+3y=6 A g, s % ) (Z,ﬁ o)
Wl 4x +y=4 % GaR 79 T 7, frah 27 3 3
5
(@) J_l—gueﬁz
53. ufe e, foms fg-aguma (2, -1, 2) 3R
3 : n
(b) ﬁqﬁz (x,s,s)%,%aﬁamaﬁmz%,a‘txm
TR HH AT 7
{c) «/ﬁ{ﬁz
(a) 52
() %_zfiﬁ? (b) 4
(c) 2
51. 9 W% af + j+ K, i +bj+ Kk M T+ j+ck (d) 1
(@, b, ¢ # 1) GHa™ &, q
1_1a+1_1b+1ic 54. é’riz;x%w?ﬂo%uﬁaﬁ:g(l, 2) &I
I€[d g
1 9 e s 27
(@) e F AR
(@ O
b 1 (b) <THFT o R, foreg FrehE W TE
(c) a+b+c (c) Eﬁﬁ‘%ﬂm
(d) abc ' | (d) HIHE R

ADU-S-LET/81A 18



49. A man running round a racecourse notes

that the sum of the distances of two
flag-posts from him is always 10 m and

52. The point of intersection of the line

joining the points (-3,4,-8) and
(5, — 6, 4) with the XY-plane is

the distance between the flag-posts is

8 m. The area of the path he encloses is (@) [z _8 Oj
? 37

(a) 18n square metres

(b) 15m square metres (b) (_Z, ﬁﬁr oj
3 3

(c) 12m square metres
7 8

(d) 8n square metres lef |==,=,0
3" 3

50. The distance of the point (1, 3) from the 7 8
line 2x + 3y = 6, measured parallel to the (d) (5 =, 0)

line 4x+y=4, is

(a) Lo units

w13 53. If the angle between the lines whose
4 direction ratios are (2, -1,2) and
(b) —=— unit - x. 3, 5) is = then the smaller value
17 ( H] » ) 43
of x is
(c) 17 units
(a) 52
V17 .
d)] —— units
4 3 ®) 4
(c) 2
51. If the vectors ai+j+k, i+bj+k and
@ 1

{+j+ck (a, b, c# 1) are coplanar, then
the value of
1 1 1
+ +
l1-a 1-b 1l-c

54. The position of the point (1, 2) relative to
the ellipse 2x2 + 7y? =20 is

is cqual to (a) outside the ellipse

(@) _O (b) inside the ellipse but not at the
(b) 1 focus

() a+b+c (c) on the ellipse

(d) abc (d) at the focus

ADU-S-LET/81A 19 [ PiT.O.



55. Th WA @I, W y-3A& 6l Faomeds fesm o 58. 30 Jd H FHIRO ® R, W faged (1, 0),

5 gfe # Ifa@e Hredl § AN x-o7y I (0, -6) R (3, 4) A B TRa 27
YATeHe fo3T o 19 120° T 107 S 8, 6 5

frror T 37 (@) 4x? +4y? +142x +47y+140=0
(@ y++3x+5=0 (b) 4x? +4y? —142x-47y+138=0

b -43x+5=0
b) y—3 () 4x2+4y% - 142x+47y+138=0
(c) y+/3x-5=0

d) 4x?% +4y2 +150x -49y+138 = 0
(d) y-3x-5=0 () “ e oy

56. 34 W@ F wHH F=1 7, S g (2, 3) R 59. Th R wHdd e fra forg (g, b, o ¥ B
Wil 2x-3y+7=0 A Tx+4y+2=0 TSRaT & 3R A& H HHA: A, B 3N C W
% wfcress-forg ¥ e ToRelt 27 Il 8| Me® OABC % %5 *1 fargay, st
O Tdx waferg &, Fm-wr &7
(@) 21x+46y—-180=0
(b) 21x-46y+96 = 0 e
(c) 46x+21y-155=0

(d) 46x-21y-29=0

57. 34 dHgd w1 g 7= R, w5 iy
qg—rﬁgw,aﬂﬁawram%ma,amg

(@) Z+Z42-9
R IeH A 4 g 77 a b c
X2 72 ‘
(a) +—=—=1
1024 64 60. 3U HAAT 1 GHEO F R, S GEdel
x+y+z=1 2x+3y+4z=7 6 vfe=daq
(b) 49x? 792 =i W 4 B TSI I B
1024 64 X —5y+3z=5W T 87
a) x+2y+3z-6=0
& 722 +49y2 i (a) y
1024 64 (b) x+2y+32+6=0
2 2 (c) 3x+4y+5z-8=0
(d) ——+2 =1 -
S 1024 64 (d) 3x+4y+5z+8=0
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55. The equation of a straight line which cuts

off an intercept of 5 units on negative
direction of y-axis and makes an angle

58. The equation of the circle which passes

.through the points (1, 0), (0, -6) and
(3, 4) is

120° with positive direction of x-axis is

(@)
(b)

(c)

(@)

y++3x+5=0
y-+/3x+5=0
y+/3x-5=0
y-3x-5=0

56. The equation of the line passing through

(@ 4x?+4y? +142x+47y+140=0

(b) 4x?% +4y? -142x-47y+138=0

(c)

4x% +4y% -142x +47y+138=0

(d) 4x? +4y? +150x-49y+138=0

59. A variable plane passes through a fixed

the point (2, 3) and the point of
intersection of lines 2x - 3y+ 7 =0 and
Tx+4y+2=0is

(@) 21x+46y—-180=0

(b) 21x-46y+96=0

fc) 46x+21y-155=0

(d) 46x-21y—-29=0

57. The equation of the ellipse whose centre

is at origin, major axis is along x-axis

with eccentricity g and latus rectum
4 units is

x?2 7y2

+——=1
@ Toz22 64

49x2+7y2 r
1024 64

(b)

2 2
7x +49y =

(c)

1024 64
2 2
T f AR MR,
1024 64
ADU-S-LET/81A 21

point (g, b, ¢) and cuts the axes in A, B
and C respectively. The locus of the
centre of the sphere OABC, O being the
origin, is

(a) £+2+E=1
a b ¢
(b) a b c_y
X Y 2
(c) bl 5
X Y B
@ ZxdseZ=p
a b e

60. The equation of the plane passing

through the line of intersection of
the planes x+y+z =1 2x+3y+4z=7,
and perpendicular to the plane
x—-5y+3z=>5 is given by

(fa) x+2y+3z-6=0
(b) x+2y+3z+6=0
(¢ 3x+4y+5z—-8=0

(d) 3x+4y+5z+8=0

[ P.T.O.



61. e y= 5% = gfaad™ F1 87

(@ x=yms, y>0

(b} x=3y"%; y5>0

|.—-

4]

(¢ x=yms, y<O0

(d x=5lny, y>0

62. T HeH FHTgER Faiia g ¢

X

Pl 2

0 » x=0

I e & Had # Frfafga § ¥ wF-a
el 87

(@ f(x), x=0 R Had & fg x=0 W
aheH g el B

(b) f(x), x=0 W ¥ad B & HAY-HY
g off B

€ f(x), x = 0T 3Ea &

(d) 3w H Q HIE T

x#0

63. aft y= (cosx)fcosx)(cosx)- g, @ % forash
TR 37

y2 tan x
1- yIn (cosx)

(@ -

y2 tan x
1+ yln (cosx)

(b)

y? tanx
1-yln (sinx)

(c)

y2 sin x
1+ yln (sin x)

(d)

ADU-S-LET/81A
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64. TfARad W fER i .

1. x+x2, x=0W Hdd 8
1 x

2. x+cos—, x=0W AYdd B
x

2

3. K +cosi, x=0WR ¥dd &
X

I | A HE-T Tl R
(@) FaA 1 3R 2
(b) Fad 2 IR 3
(c) a1 3R 3

(d 1,233

65. Freffaa Fert w R SR -
1. %%Mﬁgm%,mﬁrﬁww_
@ hl g9uTdr 2d 2|

2. AR qt) Fredt o1 F RO F T g,
ol ja(t)du-cwm%énaﬁsr@a
T B

3. AR s(t) T ¢ R forelt o1 & feremas
WW%,#{%E@WWW%

T ] WA el B
I H W B-T1/8 ke w2 /R7
(@) A 1 3R 2
(b) Had 2
(c) Faa 1
(d 1,233




61. The inverse of the function y=5"% is

1

(@ x=y™s, y>0

(b) %=y, y=0

(c)

x=ymhs, y<O0

(d x=5lhy, y>0

62. A function is defined as follows :

. T
flR)=1 2"

0 » x=0

Which one of the following is correct in
respect of the above function?

(@)

(b)

f(x) is continuous at x = 0 but not
differentiable at x =0

f(x) is continuous as well as
differentiable at x = 0

(e} f(x) is discontinuous at x =0
(d) None of the above
63. If y=(cosx)s s , then C.8
dx
equal to
o) = y2 tan x
1-yln (cosx)

(b) y2 tan x

1+ yln (cosx)
(c) y2 tanx

1-yln (sinx)
(d) y2 sin x

1+ yln (sin x)

ADU-S-LET/81A
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64. Consider the following :

1

2;

3.

2

X+ x*“ is continuous at x=0

1= " y
X +cos— is discontinuous at x =0
X

1. .
x2 +cos— is continuous at x=0

X

Which of the above are correct?

(a)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only

1, 2 and 3

65. Consider the following statements :

1.

dy

at a point on the curve gives
slope of the tangent at that point.

If a(t) denotes acceleration of a
particle, then Ja(t) dt+c gives

velocity of the particle.
If slt)

particle at time ¢, then % gives its

gives displacement of a

acceleration at that instant.

Which of the above statements is/are

correct?

() 1 and 2 only
(b) 2 only

(c) 1 only

(d 1,2 and 3

[PIT.O;



x+1

(d) x+1
x-1

67. jt&m'1 (sec x + tan x) dx TreF =T 87

2

a —+—+c
) =S
2
X X
b) —+—+c
(b) 2 4
2
(c) E+—~ﬂ:x +c
4
2
X X
—=-—+c
(d) o

68. (0, o) H T %o 39 YR Frwfia -

1-x2  , 0<x<1 % fau
In x , l<x<2 % fau
In2-1+0-5x, 2<x<o % fo7u

fla) =

T o TS AU f(x) F Ged # e #
q HI-91 T 87

(@ f’(x)=2x, 0<x<1% fqu
(b) f'(x)=-2x, 0<x<1% fog
(c) f'(x)=-2x, 0<x<1% fag
(d) f'(x)=0, 0<x <o fo@

DU-S-LET/81A 24

69. F f(x) = x(x — 1)(x + 1) % "o A Fr=foiRaq
A 9§ HH-91 98l 27

(@) ¥R RHaT 9H, TIHY =T 7F J
EER

(b) TR HAfERTH A, T REAE JH Y
BT B

(c) HEH T IS AT Aftehan T8 B,
(d) A T HIE W =HaH TE B

70. Ffeifaa a1 T famER Sifv .

1. f(x) 1 Ewes, fedt fog w dvem:
e H =& &1 whe B

2. fl(x) F Hahars, et forg w affiyea:
Hfeaa # & "an B

3.  flx) = Ehars, fordt formg W eyufifia
(sofielis &9 W) 2 Hear 2|

IR § A BH-Y He wE &7
(@) a1 3R 2
(b) FHaHA 2 IR 3
(c) “aw 1 3R 3
(d 1, 23R 3

In x

71. — = =1 AfYehan 79 =17 37

X

(@) e

(b)

Q|-

(c)

0N

@ 1




66. If y=sec_1 (x—H)+sin_1 (x~1)’ then

x—-1

%is equal to

(@) O

(b) 1
x—-1

(c) x+1
x+1

) s

(d) =

to?
2
15 N o
a —+—+c
(@ g
2
X | X
b) —+—+cC
(b} 2 4
2
(c) E+&+C
4 4
2
(d) el e
4 4

68. A function is defined in (0, <) by

2 for O0<x<1

In x for 1<x<2
InN2-1+0:-5x for 2<x<e

1-2x

flx)=

Which one of the following is correct in
respect of the derivative of the function,
Be,, 0\ e

(@ f'(x)=2xfor O<x<1
(b) f’(x)=-2xfor 0<x<1
fc) fix)=-2xfor0<x<l1
(d) f'(x)=0for O<x <ee

ADU-S-LET/81A 25

69. Which one of the following is correct
in respect of the function

f)=x(x-1D(x+17?

(@) The local maximum value is larger
than local minimum value

() The local maximum value is
smaller than local minimum value

(c) The function has no local
maximum

(d) The function has no local minimum

70. Consider the following statements :

1. Derivative of f(x) may not exist at
some point.

2. Derivative of f(x) may exist finitely
at some point.

3. Derivative of f(x) may be infinite
(geometrically) at some point.

Which of the above statements are
correct?

(@ 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3

1
71. The maximum value of e is

X
(a) e
(B) =
@ 2
e
@ 1

[ P.T.O.




T72. ®BeH f(x)=|x|- x> 2 76. jj“ 1+singdxﬁﬁeéxw%'?

(a) Tomm
(b) GH _ (@) 8
c) w| 3R fquy aF (;;) 4
(d) e, 8 fomm
fc) 2
73. afg & b
ll=%(esinx)
: esi.n(x+ h) _ esinx
I = lim 7 77. % | x|+ |y|= 15N uReg &wd fra 27
13=J'esm"‘cosxdx (@) 157
d
(@ L #I, (b) Ex—(ls)—lg T
ladx =1 d) 1, =1
@ et @=L (@) 243 = g
74. %:Zx:”:wwwqaagﬁﬁmaa
y .
AR i ,
& . 78 wﬁxﬁﬁa’ﬁf&mm% = & 9 foem
W i B Wﬁl+x4 a1 &7
(b) a=-b#0
(cf a=b=#0, h=k (a) (0, )
(d) a=b#0
408, ' ® (03]
75: g U BRX g oy i CO8K L o & Y 2
x—»—g— x X—ee X
= 7 | - wd 27 :
: o o2
(@ l=,m=1 (b L= e 2
2
(c) l=—£,m=0 d =1 m=o (@ [0, 1
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72. The function f(x)=|x|- x> is
(a) odd
(b) even
(c) both even and odd

(d) neither even nor odd

s If
d .
1 it esmx
1 dx{ )
sin (x+h) _ gsin x
h—0 h

Iy = _[esm"cosxdx

then which one of the following is

correct?

(@ b=l B i) =
1 2 dx 3 2

(c) [ladx=1, (d) I3=1I3

74. The general solution of

@zafxﬁth
dx by+k

represents a circle only when
fa) a=b=0

(b) a=-b#0

(¢ a=b=#0, h=k

(d a=b#0
75. 1f lim 30X _jang lim 222% =, then
x—+—2— X X—yo0 X
which one of the following is correct?

(a} l:':l’m=]- (b) I=—,m=oo

() l=%,m=0 (d)

ADU-S-LET/81A 27

2
76. What is jo“ 1+sin:’25czx equal to?

(@ 8
(b) 4
(c) 2
(d) O

77. The area bounded by the
|x|+|yl=11is

curve

(a) 1 square unit
(b) 2+2 square units
(c) 2 square units

(d) 2+/3 square units

2

78. If x is any real number, then

1+ x4

belongs to which one of the following
intervals?

(@ (0, ])

@ (0]

o (o}
(d [0, 1]

[ P.T.O



79. f(X)=[x]sin(nx) H x=k W THEG
Hehersl 1 B, W@ k TH QUIR ¥ IR [x]
HETH UTTeh e &7

(@ ()*k-1n

() (-1)* 1k -n

) (-)*kn

(d) (-)*kn

80. uf f(x)=g—1 3, @ AW [0, H
Frfafea 4 @ =-w a8 37

(@)

(b)

(c)

(d)

tan [f(x)], Si&l [-] #HETH QUITH BeH B,
I —L_ O e
f(0)

tan([f(x)], ST [-] 7EWH QU HeH B,
AR £ (x) ST Had &

tan[f(x)], &I [-] #ETH qUIfh B R,
iR — 3 s &
f(x)

tan|[f(x)], EH [-] HEH ‘-'!,PTY'@F e g,

e &, g —
ﬁﬁﬂ.ftﬂ ¥
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81. 379%hdl GHIEHT

(@] (2]
o1 I 3R =T HHW: 41 &7
(a) 3 3R 2
() 2 3R 2
(c) 2R3
(d) 13R3

82. dfY y:cos'l[ 2L )%,?ﬁ%ﬁ?ﬂ%w

1+ x2

37

(a) - 2 ,R‘ﬁ|x|<1%ﬁ1’@

1+x2

) - 2 _ @i |x|> 15 R
+

’
JC2

(c) Lz,iqxﬁ |x] < 1% fee

1+ x

(d) 39 A | HE T

83. 3 wfl Trgali = wy=m, e wew

o =Vi-e ™ smemer 3, FH-T1 37
(@) (0, =)

(b) (—ee, =)

(C) (_°°.v 0) U(OJ m)

@) (=1, =)




79. The left-hand derivative of

f(x) =[x] sin (nx) at x =k

where k is an integer and [x] is the
greatest integer function, is

(@ )*k-1n
(b) (-1 1k -1n
€ )<kn

[d () lkn

80. If f(x) = g 1, then on the interval [0, n]

which one of the following is correct?

(a) tan [f(x)], where [:] is the greatest

integer function, and = E are both
fix)

continuous

(b) tan[f(x)], where [:] is the greatest
integer function, and f “1(x) are
both continuous

(c) tan[f(x)], where [-] is the greatest

integer function, and La are both
fx)

discontinuous

(d) tan[f(x)], where [] is the greatest
integer function, is discontinuous

but L is continuous
f(x)

ADU-S-LET/81A 29

81. The order and degree of the differential
equation

RElka|

are respectively

(a) 3 and 2

(b) 2 and 2

(c) 2 and 3

(d 1 and 3

82. Ify-—*cos_l[ 2% ),then@is equal to
1+ dx

(a) - 5 for all |[x|<1
Lo

(b) - 2 for all |x|>1
L

(€ —2_ for all [x|<1

14 x2

(d) None of the above

83. The set of all points, where the functio:

fl)=V1-e " is differentiable, is

(@ (0, <)
(b} (— oo, °°)
¢) (===, 0 (0, =)

@ (=1, =)

[ P.T.C



84. -1 # G-I % Wy gafa Hfg ik

i % R T 7Y g2 B TEE R OEE SR
i1 H-11
(we) (crfererem we)

A. sinx+cosx 1. J10

B. 3sinx+4cosx B, &3

C. 2sinx+cosx 3. 5

D. sinx+ 3cosx 4. 45

%< :

@ A B C D

2 3 1 4
() A B C D
2 3 4 1
A DR R
3 2 1 4
@ A B C D
3 2 4 1

85. AR f(x) = x(Vx —Vx+1) %, A f(x)
(@) x=0W qaa g, fohg] T 8 8
(b) x=0W EFTHA B
(¢) x =0T Hdd =&l &

(d) ST F ¥ B T

ADU-S-LET/81A
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86. 1= ¥ ¥ ®H-W W, B f(x) =2, x 20
X
=t frefig =t 87

y
N
+1
(a) < - > X
Yy
N
+1
(b) < = > X
=
v
Yy
+1%
(c) < 0| > X
(d) 3T § | BE 7

87. W T f(n)=[zl+10"00}%, &t [x,

x % QUi T A ffde wear 1) 5w ww #

1000
Y fin) A w0 RY

n=1

(@ 251
(b) 250
© 1

d o




84. Match List-1 with List-II and select the 86. Which one of the following grapt
correct answer using the code given

represents the function f(x) = f, x # 07
below the lists : X

y
N
List-T List-II #1
(Function) (Maximum
value) (a) < o S
A. sinx+cosx 1. <10
Yy
B. 3sinx+4cosx 2, 2 M
+1
C. 2sinx+cosx 3. S
(b) < = > X
D. sinx+3cosx 4, /5 e Bl
v
Code :
Yy
+1
(a) A B C D
2 3 1 4 & s
(c) = x
(b) A B C D
2 3 4 1
(d) None of the above
(c) A B D
3 2 1 4
(@) 2 B & D 87. Let f(n) = |: 2 i :l , where [x] denot
3 2 4 1 4 1000
the integral part of x. Then the val
1000
of Y f(n)is
85. If f(x) = x(vx —+/x+1), then f(x) is =
(a) continuous but not differentiable at (@) 251
x=0
(b) differentiable at x =0 2 a2t
(c) not continuous at x =0 ' (¢ 1
(d) None of the above (d O
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88. [(Inx)'dx - [(Inx) % dx e s 27

(@ x(lnx)™!+c
(b) x(nx)2+c
(c) x(Inx)+c

(d) x(Inx)? +c

89. TH uTg hl 91 & P YEIF &AFS HT AR Hh
fo A 99 T SeTeRr SR @ fffa foen
ST 1 9fe SR Y i eifteram W@ R, @
SR 1 =g, SR Al 98 # kT e
IR 59 <=0 F k 1 HE T 87

(@) 1
(b) 2
fc) 3

@ 4

90. J’fdtanx dx+_[§dcotxdx w HH ThEs
T 87

(@)

|3

(b)

A

€ —=

(@)

=
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91. AN WiNT g #eww Tuife Bed 8| 39 < #

I f(x) = (g(x)* — g(x?) el 3rEaq &7
(@) | qorfeRt | |

(b) 0 3R 1 = Biga T+ Quiferl w

() O Brew aft uifeni W

(d) 17 SRt at gurfent w

92, Ui y= A[sin (x+C)+cos(x+C)] #H

W=y I A R ¢ F Frw (feiw) @
g e ife 1 Sreee gt S1-|1 87

(@) y”+(sin x+cos x)y’ =1
(b) y” =(sinx +cosx)y’

¢ y’= (y’)2 +sinx cosx

[d y“+y=0

93. fm=fafaa wuA w femm Hifs

EX G

x>sinx,¥¥3ﬂx>0%ﬁ“’m,

5Yq 11 :

flx)=x-sinx TF IHAF Ted B, g
x>0%ﬁm

S o % ded § Freffiad # @ S
wh ¥

(@ HI 1 IR &Y 11 9 T &, a0
YA 1 1 Ge TEHT HeH 11 8

(b) HU 1 AR FH I T @&, @A
FYA 11, HoF [ 1 Ge WP 48 B

(c) 9 1 9& 7, fobrg oA 11 e ®
(d) U 17 7, Tohrg FoF 11 921 8




88. [(Inx)'dx- [(Inx)?dx is equal to
(@ x(nx)!+ec
(b) x(Inx)™2 +c

fc) x(Inx)+c

[d) x(nx)? +c

89. A cylindrical jar without a lid has to be
constructed using a given surface area
of a metal sheet. If the capacity of the
jar is to be maximum, then the diameter
of the jar must be k times the height of
the jar. The value of k is

(@) 1
(b) 2
(¢ 3
(d) 4

90. The value of

Ifdtanx dx+j§\/cotx dx

is equal to

T
(@) Z

(b)

N[

€ —=

(d)
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91. Let g be the greatest integer functio:

Then the function f(x)z(g(x))2 - glx

is discontinuous at

(a) all integers

(b) all integers except 0 and 1
(c) all integers except O

(d) all integers except 1

92. The differential equation of minimu:

order by eliminating the arbitra:
constants A and C in the equatic
y=Alsin (x + C) +cos(x + C)] is

(@) y”+(sin x+cos x)y’ =1
(b) y” =(sinx +cosx)y’

(€ y”=(y)? +sinxcosx

d y"+y=0

93. Consider the following statements :

Statement 1 :

x>sinx for all x>0

Statement II :

f(x)=x-sinx is an increasir
function for all x >0

Which one of the following is correct i
respect of the above statements?

(a) Both Statement I and Statement
are true and Statement II is tt
correct explanation of Statement

(b) Both Statement I and Statement
are true and Statement II is not tt
correct explanation of Statement

(c) StatementI is true but Statement
is false

(d) Statement I is false but Statement
is true

[ P.T.C



94, 3TdHhd FHIHWI

dy _y¢o'lx) -y
dx 9()
1 T T -7

X
d(x) +c

(@ y=

) y=2.c
X
400 + ¢

X

(c) y=

@ y=2L

xX+c

3

95. Iz f(x)=4’”"4 3R g(x):-ln[ij—ﬁ) 2,

1+4x

a‘lfog[e'l)aﬂmqﬁa%m%?

e+1
(@ 2
(b) 1
(c
(d)

(@ @-BB-ve-y)

(b) -BB-Yy-o)

© ©-BB-y-a)e+B+Y)
d) 0
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97. =R

1 6 ;2
(b) | -2 1 4}

lée 1 @2
¢ |4 -1 2

[ -6 2 1
(d) 4 -2 1]

9. ﬁA:[‘Z 2) 3 & fr ¥ A

2 =2
?7

(@ A% =-2A
(b) A% =-4A
() A%=-3A
(d A% =44



94. The solution of the differential equation 97. The adjoint of the matrix
dy _ y¢'(x) -y

190 2
& ¢ A=|2 1 0
is 0 3 1
X
(a) y-¢(x)+c is
(b) y=@+c [-1 6 2
@ | -2 1 -4
okl 6 3 1
= A
(d) yzj(f)c 4 B R
) |-2 1 4
g =a i
4 L
9B, If' fl="2T%_ g g(x)=1n[1+—x),
1+4x3 1~
then what is the value of fog(e_lj 6 1 2
g o @ ~1:0 8
equal to? & A -
(@) 2
(&) 1 B B« 1
(¢ O (d) 4 -2 1
. 3 1 -6
d) =
(d) 5

96. The value of the determinant

=2 2
98. If A= , then which one of the
-0 a-a? o? 2 -2

1-p p-p% p? following is correct?
I -y g2
(@ A% =-24A
is equal to

(@) (-BB-ve-Y) (b) A% =-4A
(b) -PB-Yy-)

c) @-BB-y-a)o+B+y)
(d 0O (d) A2 =44

(c) A2 =-3A
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99. Re (z2 -i)=2, W& i=+-1 ¥ 3R Re 102. 7H Y fh T @ A1 39 TR o 5 @ 6

rfyE 3w 2, sfeE w9 § @ TH Bl AW H wWEAT, faww we F
TGN | AW H G A G R SE IR R
T R, A AN T % I <kl qTRIshdl w491
(@ T 77
(b) i i 1
a s
(c) SEAHR TR 2
(d) TEEE 5
L
100. IR p+g+r=a+b+c=0%, A Gifies
pa gb rc (c) i
gc ra pb °
rb pc qa
e auer 37 (@) %
(@ O |
(b) 1
103. AF wifvg wiesl @@fd 50 @& FOR o
I PREGHE Hensdt & N 3, X wened A Al ww
(d pa+gb+rc+a+b+c B S 3 % PN § 3R v foww gEmatt @ e
w2l e § @ Fe-m/a vl R/E?
101. & JEu 3R @ Afgensi ¥ ° W@ wE QA 1. p(X)z_S_
e hl T aify o g T R wlf § 25
Joq1eld: T Al o B 1 T Wk &7 2. Pw)=l
2.
@ -
= fog T He 1 W@ W e IW g
(b) % (@) Fad 1
b) had 2
© 3 &
(c) 1 3R 2<H
1
(@ 2 (d ad 1,82
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99, Geometrically Re (22 -1) =2, where 102. Let a die be loaded in such a way that

i=y=1 and Re is the real part even faces are twice likely to occur as
the odd faces. What is the probability

represents
that a prime number will show up when
(a) circle the die is tossed?
b) ellipse
(b) P @ T
(c) rectangular hyperbola
(d) parabola
() 2
3
100. If p+g+r=a+b+c=0, then the
determinant
@
pa gb rc 9
qgc ra pb
rb pc qga 5
(d) 5
equals
(@ O
103. Let the sample space consist of non-
(b) 1 negative integers up to 50, X denote the
numbers which are multiples of 3 and
(c) pa+gb+rc Y denote the odd numbers. Which of the

following is/are correct?
(d pa+gb+rc+a+b+c

i P(X)=2—Ei_)

101. A committee of two persons is selected
from two men and two women. The 2. P(Y)= 1
probability that the committee will have 2
exactly one woman is
Select the correct answer using the code

1 ;
(a) z given below.
2
(b) 3 (a) 1 only
© 1 (b) 2 only
3
(c) Both 1 and 2
1
d - .
2 (d) Neither 1 nor 2
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104. &1 WA A 3R B ¥ fow, mm iR 106. 5o w2 © 15 Y& F UF uiesl % @HIR

P =L, pauB) =2 @R PANB) =2 M iR A e FE 24 o 0
3 S 6 Hiwst & T R v JEl B A W
0
(@) % (a)
(b) 8
(c) 16
1
(b) q (d) 24

107. f= § ¥ FH-91 x W y & GEHEAT oIE AR

(c) 1 y W x % GHIHAY 0N % WHI 61 qgfd IH
. HMAT T Gehell 87
) (@ (1,1
s () (-1, 1
o (43
105. fi=faRed FHeel R frem Hifs : (@ (1, Q)
1. ToreRol TUTieR, =R % Ao 3o W R b
T B
2. wE (%), aR&mor $i T A9 7 108. AH T B A 3R B & v g, fFes fog
3. wem feem 99 Fged g 8, 5 P(A)=%, (B)=é 3R 1-"[r’~’1r\B)=1—12 &l
ﬂﬁﬁ%mﬁmﬁﬁmm%l P(BIE)WW%?
Waﬁ’ﬂ:ﬁﬁﬁﬁﬁ—@ﬂ%ﬁ%? (@) é
heel 1 3R 2
% )
(b) Faw 2 3R 3
: ©
(c) a1 3R 3
1
(d 1,233 @ 1o
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104. For two events A and B, let P(A)= l, 106. Given that the arithmetic mean and
standard deviation of a sample of

P(AuB)=g and P(AmB):l. What is 15 observations are 24 and O

3 6 respectively. Then which one of the

following is the arithmetic mean of the
smallest five observations in the data?

P(A N B) equal to?

1
{a} = (Cl) 0
(b) 8
1
b) — 16
(b) G (c)
(d) 24
1
(c) 3 107. Which one of the following can be
considered as appropriate pair of values
of regression coefficient of y on x and
(d 4 regression coefficient of x on y?
2
(@ (1, 1)
(b) (-1, 1)
105. Consider the following statements : ) ( 1 2)
C Ty
2

1. Coefficient of variation depends on

the unit of measurement of the d 1 10
variable. (@) (5’ ?)

2. Range is a measure of dispersion.
1

]

108. L B ith P(A) =
3. Mean deviation is least when eletonnl Slber Crpicra st (4)

measured about median. P(B) =% and P(AB)= 1_12 What is

Which of the above statements are P(B|A) equal to?
correct? - 1
a Rk,
5
fa) 1 and 2 only (b) i
74
(b) 2 and 3 only
1
(c) g
(c) 1 and 3 only
1
(d —
(d 1, 2 and 3 10
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109. T fug dz & W 2 2 sin v 2 %) =@ 112. 78 0 T ¥ T X =10, ¥ =90, ox =3,

T st o TR & foF X =2 =17 I GHISHT T B
5
@ > (@ Y =3-2X+58
(b) X =3-2Y +58
b) 22
= € X=-8+0.2Y
e ([d) Y=-8+0-2X
(c) 216
" roi P
. 2_2 113. Il P{B)—-4, P(AnBNC) - 3
P(KanE)=~31~ ®, @ P(BnC) Twas
110. fel STeME W TF oW % FEK wgeR R 7
1 B
mg%lsmﬁﬁm#m (a}le_ (b)g
4 RS % IR gUEd gge <l WIRehdr w41 ; ;
? 1 1
a7 © = @
@ o
- 114, F=faRea arefl § @ wferi & @ifts =@ fig
) o= MR
) % =g (¥ 1)
i = TRem A TfEm B
@ - @ 3,500 2,700
243
HYST 500 800
TR 1,500 1,000
111. 9= Wi ®=0 & f dF =t F o e § e 2,000 1,800
3 -8 3 @ @ T A b o ’ 1500
Rl q 2,500 8
(@ % Iwith el ¥ gera sAm % foe, = 3 9
fore ©F argua # gl A Bt W g
17 e
(b) =
(@ 11
(c) L b) 10 :9
144 (b) '
2 (c) 100 : 91
(s

) (d 5:4
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109, T & bifiomial distrbiition, the fhiean is %

and the variance is g What is the

probability that X =27
5

(@) 36

25

36

25

216

25
54

(b)
(c)

(d)

110. The probability that a ship safely reaches
a port is % The probability that out of

5 ships, at least 4 ships would arrive
safely is
1
a ——
(@ 243

10
243
11
243

13
243

(b)
(c)
(d)

111. What is the probability that at least two
persons out of a group of three persons
were born in the same month (disregard
year)?

33
(a) m

iy
72

1
144

2
@ 3

(b)

(c)
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112. It is given that X =10, Y =90, 6y =3,
oy =12 and ryy = 0-8. The regression

equation of X on Y is
(@) Y=3-2X+58
(h) X=3-2Y+58
() X=-8+0-2Y
(d Y=-8+0-2X

113. If P(B):% P(AﬁBmE)=% and
P(ANnBNC)= % then what is P(BNC)
equal to?

1 3
= b)) =
(a) T (b) i
1 1
e ) =
fc) iE (d) -

114. The following table gives the monthly

expenditure of two families :

Expenditure (in )

Items Family A | Family B
Food 3,500 2,700
Clothing 500 800
Rent 1,500 1,000
Education 2,000 1,800
Miscellaneous 2,500 1,800

In constructing a pie diagram to the
above data, the radii of the circles are to
be chosen by which one of the following

ratios?

fa) 1.:d

(b) 10 : 9
(c) 100 : 91
(dl 54
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115. 3¢ T =W & HE O, 1, 2, 3, ..., n HEM:

G

1, Cin, 1), C(n, 2, C, 3), ..., Cln, )
% TIY TIH g &, N IR " H® ame
(@) 2n
(b) n+1
(c)

(d)

N3 3

116. T wgfoheda wlen § wh wdanef @ @ @

IW SHa & TR miRear p 3 W SN
T & g aieedar 1- p B1 AR 98 Faw
AN TIET §, O T T IW EE TR R

mﬁw%%wﬁ:qﬂmﬁ@mmww
@ B, @ 98 Wilehar w1 Boft o6 9w weE
I ST 27

(@) —2
1+mp

mp
(v) 1+(m-1)p

(m-1)p
() 1+m-1)p

(m - 1)p
“ e

117. 3¢ x; 3N x, ©CHS TR €, I $Hb AR

g AR O AE Sl o dR 1 W
fie B =1 wfeeig @ gen?

(@) x;+xq>2[xx5
(b) \Jx; +.x5 >+2
(@ |x —yxz |>+2
(d) x; +xq <2(/xyx5 +])
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118. Fr=faRaa oAt w famm SHifse .

1. wEor, geferg gfEdy i Shet giedd @
TTfe e B |

2. TERO O, J&ON ht e ¥ oA g
Bl

ST oAl F | BH-91/9 T 2/R?
(@) Fad 1

(b) e 2

(c) 13 2aHi

(d A@1, 782

119. 1, 3, 5, 7 3R 9 e ol uiw ofeai <t € £

TH ¥ N sfeal ageem gl W ) W
iR 1 2 T g 8 ofeal w By s
el &7

(@ 05
(b) 0-4
) 03

d o

120. HgGWFY TUINH 1 BT, Ife GHIHEU U

0-2 3R 1-8 &7
(@) 036
(b) 0-2
() 06

(d) 09



115. If a variable takes values O, 1, 2, 3, ..., n

with frequencies
L, (@m 1)y Cm,. 2),. Cn, .3y vusey: Cltry. M)

respectively, then the arithmetic mean
is

(a) 2n
(b) n+1
) n

n
(d) 2

116. In a multiple-choice test, an examinee

either knows the correct answer with
probability p, or guesses with
probability 1- p. The probability of
answering a question correctly is i,

m
if he or she merely guesses. If the
examinee answers a question correctly,
the probability that he or she really
knows the answer is

o] —=
1+mp
mp

(b) 1+m-1)p

(m-1)p

() 1+m-1)p
+mp

117. If x; and x, are positive quantities, then

the condition for the difference between
the arithmetic mean and the geometric
mean to be greater than 1 is

(@) x;+xy >2,/x1%x5
) i +xz >3
(€) Ix —x3 1>42

(d) x;+x5 <2([x1x5 +1)
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118. Consider the following statements :

1. Variance is unaffected by change of
origin and change of scale.

2. Coefficient of variance is
independent of the unit of
observations.

Which of the statements given above
is/are correct?

() 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2

119. Five sticks of length 1, 3, 5, 7 and 9 feet

are given. Three of these sticks are
selected at random. What is the
probability that the selected sticks can
form a triangle?

(@ 05
(b) 04
(¢ 03
(d) O

120. The coefficient of correlation when

coefficients of regression are 02
and 1:8 is

(@ 036
B) 02
(c) 06
(d 09
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